
1 

P A R T S   L I S T  

**Packaged Separately 

Item Qty Description Item Qty Description 

A 1 60" Backboard** E 1 5/8" X 13" Hex Bolt 

B 1 Extension Arm** F 2 5/8" Lock Nut 

C 2 Parallel Linkage** G 2 Top Spacer Bushing 

D 1 5/8" X 11" Hex Bolt H 2 Bottom Spacer Bushing 

 Inspect all contents prior to installation. Report any missing parts to dealer immediately. 
 Read all instructions before proceeding. 

—— Instruction Manual —— 

HT6060HDWR 
Hardware to install 60" Backboard on 6" HangTime Pole System 

Date: 01/15/18       Rev:  I.R.           B.A.               N.J.C.                 File: \pub\inst\ht6060hdwr                       Ref#:  920415 

Notice: 
Follow the instructions provided with the 6" HangTime pole system through instruction #9 to install/
assemble vertical pole and main extension arm assembly. Use these instructions in place of instruction 
#10 to install the 60" Backboard onto the 6" HangTime pole. Continue with instruction #11 provided 

with the pole system to complete assembly. 

Customer Service     
(800) 247-7668 

1. Use the 5/8"  X 13"  Hex Bolt (E), Bottom Spacer Bushings (H) and 5/8"  Lock Nuts (F) to attach the 60" 
 Backboard (A) to Extension Arm (B). Tighten 5/8"  Lock Nut (F) then back off 1/4 turn to make sure 60" 
 Backboard (A) pivots freely. See Figure 1. 
 
2. Install Top Spacer Bushings (G) into both Parallel Linkages (C) with the larger diameter of Top Spacer 
 Bushing (G) to the inside between the 60"  Backboard (A) and Parallel Linkages (C). See Figure 1. 
 
3. Use the 5/8"  X 11"  Hex Bolt (D) and 5/8"  Lock Nut (F) to attach 60"  Backboard (A) to the Parallel 
 Linkages (C) with Top Spacer Bushings (G) previously installed. Tighten 5/8"  Lock Nut (F) then back off 
 1/4 turn to make sure 60"  Backboard (A) pivots freely. See Figure 1. 
 
 
 
 
 
 
 



2 

Figure 1 


